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Enrollment No: _______________________         Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Summer Examination-2022 

 

Subject Name: Mathematical for Economics  
 

Subject Code: 4AH06MLE1   Branch: B.A. (Economics) 
    

Semester: 6        Date: 10/05/2022   Time: 02:30 To 05:30   Marks :70 
 

Instructions: 
(1) Use of Programmable calculator & any other electronic instrument is prohibited. 

(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

 a)   
8 1
2 3

 = _______. 

(a) 23            (b) 22        (c) −23       (d) −22 

 
8 1
2 3

 = _______. 

(a) 23            (b) 22        (c) −23       (d) −22 

 

 b)  Which of the following matrix is of order 2 × 3? 

(a)  
1 2
2 4
4 6

        (b)  
1 2 4
2 4 6

      (c)  
1 0
0 1

          (d) None of these  

નનચેનામાથી કય ુશે્રણિક 2 × 3 કક્ષાન ુછે? 

(a)  
1 2
2 4
4 6

       (b)  
1 2 4
2 4 6

       (c)  
1 0
0 1

     (d) આ઩ે઱ ઩ૈકી એક ઩િ નહિ 

 

 c)  If   
41 −33
𝑘 −45

 =  
41 −33
12 −45

  then 𝑘 = _______. 

(a) 12            (b) -12              (c) 21             (d) −21 

જો   41 −33
𝑘 −45

 =  
41 −33
12 −45

  તો 𝑘 = _______. 

(a) 12            (b) -12              (c) 21              (d) −21 

 

 d)   𝑥 − 𝑦  𝑥 + 𝑦 = ______. 

(a) 𝑥2 + 𝑦2       (b) 𝑥2 × 𝑦2      (c) 𝑥2 − 𝑦2       (d) None of these 

 𝑥 − 𝑦  𝑥 + 𝑦 = ______. 

(a) 𝑥2 + 𝑦2       (b) 𝑥2 × 𝑦2      (c) 𝑥2 − 𝑦2       (d) આ઩ે઱ ઩ૈકી એક ઩િ નહિ 
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 e)    𝑎 − 𝑏 2 = ________ 

(a)𝑎2 − 2𝑎𝑏 + 𝑏2             (b) 𝑎2 + 2𝑎𝑏 + 𝑏2  

(c) 𝑎2 − 𝑎𝑏 + 𝑏2              (d) None of these 

  𝑎 − 𝑏 2 = ________ 

(a) 𝑎2 − 2𝑎𝑏 + 𝑏2             (b) 𝑎2 + 2𝑎𝑏 + 𝑏2  

(c) 𝑎2 − 𝑎𝑏 + 𝑏2                (d) આ઩ે઱ ઩ૈકી એક ઩િ નહિ 

 

 f)  Slope of equation 2𝑥 + 3𝑦 + 56 = 0 is ______ 

 a −
3

2
           b −

2

3
             c − 28           d −

56

3
 

રેખા 2𝑥 + 3𝑦 + 56 = 0 નો ઢાલ ______  

 a −
3

2
           b −

2

3
             c − 28           d −

56

3
 

 

 g)  lim
𝑥 →−1

 𝑥3 − 𝑥2 + 1 = ______ 

(a) 1         (b) 2         (c) 0        (d) -1 

lim
𝑥 →−1

 𝑥3 − 𝑥2 + 1 = ______ 

(a) 1         (b) 2         (c) 0        (d) -1 

 

 h)  What is co-domain of function 𝑓: 𝑁 → 𝑅 define by 𝑓 𝑥 = 𝑥 − 1? 

 𝑎  𝑁          𝑏  𝑁 ∪  0             𝑐  𝑅            d  None of these 

નળધેય 𝑓: 𝑁 → 𝑅, 𝑓 𝑥 = 𝑥 − 1 નો સિ-પ્રદે઴ શ ુમલે? 

 𝑎  𝑁          𝑏  𝑁 ∪  0             𝑐  𝑅            d આ઩ે઱ ઩ૈકી એક ઩ણ નહષ 

 

 i)  
lim
𝑥→0

sin 𝑥

𝑥
= ______. 

(a) 1        (b) 0         (c) ∞         (d) -1 

lim
𝑥→0

sin 𝑥

𝑥
= ______. 

(a) 1        (b) 0         (c) ∞         (d) -1 

 

 j)  𝑑

𝑑𝑥
 𝑥2 = ______. 

 a  2𝑥2        b 2𝑥          c 𝑥          d  None of these 

𝑑

𝑑𝑥
 𝑥2 = ______. 

 a  2𝑥2        b 2𝑥          c 𝑥          d  આ઩ે઱ ઩ૈકી એક ઩ણ નહષ 

 

 k)  𝑑

𝑑𝑥
 cos 𝑥 = ______. 

 a sin 𝑥       b − sin 𝑥       c tan 𝑥       d − cosx 

𝑑

𝑑𝑥
 cos 𝑥 = ______. 

 a sin 𝑥        b − sin 𝑥       c tan 𝑥      d − cosx 
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 l)  
 𝑥𝑛 𝑑𝑥 = ______ + 𝑐 

 a 𝑛𝑥𝑛−1        b  
𝑥𝑛+1

𝑛 + 1
         c  

𝑥𝑛−1

𝑛 − 1
           d 

𝑥𝑛+1

𝑛
 

 𝑥𝑛 𝑑𝑥 = ______ + 𝑐 

 a 𝑛𝑥𝑛−1        b  
𝑥𝑛+1

𝑛 + 1
         c  

𝑥𝑛−1

𝑛 − 1
           d 

𝑥𝑛+1

𝑛
 

 

 m)  
 3 sin 𝑥 𝑑𝑥 = ______ + 𝑐 

 a  3 sin 𝑥        b − 3 sin 𝑥        c  3 tan 𝑥       d − 3cosx 

 3 sin 𝑥 𝑑𝑥 = ______ + 𝑐 

 a  3 sin 𝑥        b − 3 sin 𝑥        c  3 tan 𝑥       d − 3cosx 

 

 n)  If 𝐴 = 𝐴𝑇  then A is ______. 

(a) Symmetric matrix   (b) Skew-symmetric matrix 

(c) Square matrix         (d) None of these 

જો 𝐴 = 𝐴𝑇  તો A ______છે. 

(a) સનમત શે્રણિક            (b) નળસનમત શે્રણિક 

(c) ચોરસ શે્રણિક             (d) આ઩ે઱ ઩ૈકી એક ઩િ નહિ 

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 a)  If  𝐴 =  
1 2

−3 −4
  and 𝐵 =  

−1 −2
3 4

 , then find 𝐴 + 𝐵, 𝐴 − 𝐵,

2𝐴, 2𝐴 + 𝐵, 2𝐴 − 𝐵. 

જો  𝐴 =  
1 2

−3 −4
  અને 𝐵 =  

−1 −2
3 4

 , તો  

𝐴 + 𝐵, 𝐴 − 𝐵, 2𝐴, 2𝐴 + 𝐵, 2𝐴 − 𝐵 ની હકમત મેલળો. 

(05) 

 b)  If 𝐴 =  
1 −3
2 4

 , 𝐵 =  
−1 4
5 −2

  then find 𝐴𝐵 and 𝐵𝐴. 

જો 𝐴 =  
1 −3
2 4

 , 𝐵 =  
−1 4
5 −2

  તો 𝐴𝐵 અન ે𝐵𝐴 ઴ોધો. 

(05) 

 c)  If 𝐴 =  
1 2
3 4

 , 𝐵 =  
2 3
4 5

  then find 2𝐴 + 3𝐵 + 𝐼, where 𝐼 =  
1 0
0 1

 . 

જો 𝐴 =  
1 2
3 4

 , 𝐵 =  
2 3
4 5

  તો 2𝐴 + 3𝐵 + 𝐼. જ્યા 𝐼 =  
1 0
0 1

 . 

(04) 

    

Q-3  Attempt all questions (14) 

 a)  Find inverse of matrix 𝐴 =  
2 −3
5 4

  

𝐴 =  
2 −3
5 4

  નો વ્યસ્ત શે્રણિક ઴ોધો. 
 

(05) 
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 b)  If 𝑥 + 𝑦 + 𝑧 = 0 then prove that 𝑥3 + 𝑦3 + 𝑧3 = 3𝑥𝑦𝑧 and hence 

deduce that  −12 3 +  7 3 +  5 3. 

જો 𝑥 + 𝑦 + 𝑧 = 0 તો શાબિત કરો કે 𝑥3 + 𝑦3 + 𝑧3 = 3𝑥𝑦𝑧 અને તે ઩રથી 
 −12 3 +  7 3 +  5 3 મેલળો.. 

(05) 

 c)  Expand  3𝑎 + 4𝑏 + 5𝑐 2. 

 3𝑎 + 4𝑏 + 5𝑐 2 ન ુવળસ્તરણ કરો. 
(04) 

    

Q-4  Attempt all questions (14) 

 a)  
Find adjoint of A and inverse of A for the matrix 𝐴 =  

5 8 1
0 2 1
4 3 −1

 . 

𝐴 =  
5 8 1
0 2 1
4 3 −1

  નો સિઅળયળજ શે્રણિક તેમજ વ્યસ્ત શે્રણિક મેલળો. 

(07) 

 b)  Using identities find the value:  1).  103 2     2).   98 2 

વનત્યવમનો ઉ઩યોગ કરીને હકમત મેલળો:  1).  103 2     2).   98 2 

(04) 

 c)  
If 𝑦 = 𝑒𝑥 + 𝑥𝑒 + 𝑒𝑒 , then find 

𝑑𝑦

𝑑𝑥
. 

જો 𝑦 = 𝑒𝑥 + 𝑥𝑒 + 𝑒𝑒 , તો 𝑑𝑦

𝑑𝑥
 ઴ોધો. 

(03) 

    

Q-5  Attempt all questions (14) 

 a)  Find root of the equation 3𝑥2 − 5𝑥 + 2 = 0 by using quadratic formula. 

દ્વિઘાત સતૂ્રનો ઉ઩યોગ કરીને 3𝑥2 − 5𝑥 + 2 = 0 નો ઉકે઱ ઴ોઘો. 
(05) 

 b)  Write rules of Exponent. 

ઘાતાાંકના નનયમો ઱ખો. 
(05) 

 c)  Find the value of  25 ÷ 28 5 × 2−5. 

 25 ÷ 28 5 × 2−5 ની હકમત ઴ોધો.  
(04) 

    

Q-6  Attempt all questions (14) 

 a)  Draw the graph of Identity Function. 

તદૈળ નળધેયનો આ઱ેખ દોરો. 
(05) 

 b)  
Find  i  lim

𝑥→2

𝑥2 + 𝑥 − 6

𝑥 − 2
.   ii lim

𝑥→2

𝑥2 − 22

𝑥 − 2
. 

 હકમત ઴ોધો:  i  lim
𝑥→2

𝑥2 + 𝑥 − 6

𝑥 − 2
.   ii lim

𝑥→2

𝑥2 − 22

𝑥 − 2
. 

(05) 

 c)  If the cost function is 𝐶 = 𝑥3 + 7𝑥2 + 5𝑥 + 200, find marginal cost and 

average cost function. 

જો ખર્ચ વળધેય 𝐶 = 𝑥3 + 7𝑥2 + 5𝑥 + 200 ષોય તો વશમાાંત ખર્ચ અને શરેરા઴ 
ખર્ચ ઴ોધો. 

(04) 
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Q-7  Attempt all questions (14) 

 a)  
Show that the function𝑓 𝑥 =  

𝑥;   𝑖𝑓 𝑥 ≠ 0
0;   𝑖𝑓 𝑥 = 0

   is continuous. 

બતાળો કે 𝑓 𝑥 =  
𝑥;   𝑖𝑓 𝑥 ≠ 0
0;   𝑖𝑓 𝑥 = 0

   શતત વળધેય છે. 

(05) 

 b)  If 𝑓: 𝑅 → 𝑅, defined by 𝑓 𝑥 = 𝑥2 then find 𝑓 ′ (1) by using definition. 

વ્યાખ્યાની મદદથી 𝑓: 𝑅 → 𝑅, 𝑓 𝑥 = 𝑥2 માટે  𝑓 ′(1) મેલળો.. 
(05) 

 c)  
If 𝑦 = 2𝑥3 − 3𝑥2 + 𝑒𝑥 + 𝑙𝑛𝑥, then find 

𝑑𝑦

𝑑𝑥
. 

જો 𝑦 = 2𝑥3 − 3𝑥2 + 𝑒𝑥 + 𝑙𝑛𝑥, તો 𝑑𝑦

𝑑𝑥
 મેલળો. 

(04) 

    

Q-8  Attempt all questions (14) 

 a)  
Find   𝑥3 + 2𝑥2 − 3𝑥 +

3

𝑥
 𝑑𝑥 

હકમત ઴ોધો:   𝑥3 + 2𝑥2 − 3𝑥 +
3

𝑥
 𝑑𝑥 

(05) 

 b)  
Find  

𝑥3 − 8

𝑥2 − 2𝑥
𝑑𝑥 

હકમત ઴ોધો:  𝑥3 − 8

𝑥2 − 2𝑥
𝑑𝑥 

(05) 

 c)  
If 𝑦 =  𝑥2 + 3  𝑥 − 2 , then find 

𝑑𝑦

𝑑𝑥
. 

જો 𝑦 =  𝑥2 + 3  𝑥 − 2 , તો 𝑑𝑦

𝑑𝑥
મેલળો. 

(04) 

 


